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                                                                                                                                    Draw   S.F.D  & B.M.D 

Reaction :-  

+  ∑ MB = (40 * 6 * 3 ) – Ay * 6 = 0 

Ay = 120 KN  

+  ∑ MA = - (40 * 6 * 3 ) + By * 6 = 0 

By = 120 KN  

Check  

 + ∑ Fy  = 0 

Ay + By – (40 * 6 ) = 0  

120 +120 – (40 * 6 ) = 0 

0 = 0  
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Reaction :-  

+  ∑ MB = (50 * 2) – Ay * 6 = 0 

Ay =16.67  KN  

+  ∑ MA = - (50 * 4) + By * 6 = 0 

By = 33.33 KN  

Check  

 + ∑ Fy  = 0 

Ay + By – (50) = 0  16.67+ 33.33-50 = 0  
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Reaction :-  

+  ∑ MB =0 

 - (40*2) + ( 50*3) + (30* 6 * 3 ) –  

-Ay*6 + (20 * 8 ) = 128.33 KN 

+  ∑ MA = 0 

 (20 * 2) – (50+*3) – (30 * 6 * 3 ) 

 – ( 40 * 8 ) + By * 6 = 0 

By = 161.67 KN  

Check  

 + ∑ Fy  = 0 

Ay + By – 20 – 40 – 50 – (30 * 6 )  

128.33 + 161.67 – 20 – 40 -50 

 – (30 * 6 ) =  

0=0  
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Reaction :-  

+  ∑ MB = 0 

(1 ) – Ay * 4= 0 

Ay =1/4   KN  

+  ∑ MA =0 

 1 + By * 4 = 0 

By = - 1/4 KN  

Check  

 + ∑ Fy  = 0 

Ay - By =0 

 

 

 

 

 

 

Reaction :-  

+  ∑ MB = M -1   

M = 1 KN.m 

 + ∑ Fy  = 0 

Ay = 0  
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Reaction  :-  

 

                                                    

 

 

Reaction :-                                                                    

+  ∑ MB = 0  

(40 * 1.5 * 3 ) – Ay * 3 = 0 

Ay = 60 KN  

+  ∑ MA =0 

 - (40 * 1.5 * 3 ) + By * 6 = 0 

By = 60 KN  
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∑ M c= 0 

(60 * 2 ) + (40 *2*1 ) + (Dy*5)-(40*5*2.5)=0 

Dy= 60 KN 

∑ M D= 0 

(60 * 7 ) + (40 *7*3.5 ) + (cy*5 )0 

Cy= 280 KN 

+ ∑   Fy = 0 

60 + 60 + 280 – (40 * 10 ) = 

0 = 0  

 

40 KN/m 

By cy Dy 

40 KN/m 

 

5 m  2 m  3 m  60 KN 280 KN 
60  KN 

60 KN 

140 KN 

140KN 

60 KN 

90  KN.m 90  KN.m 

50  KN.m 


